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1. Short circuit occurs when the tes~tance in the external circuit is 

. (A) . Infinity (B) Maximum 

(C) 'Miirimum t)P". Zero 

QQJQ\16 5jb!filw IL.Wm tbloil!~L ----~·@®5@;tb Qurr@~ ~8;@>6 &!i>g)I ~Jbu@~ID~-
(A) R'!fil'6l (B) <duQ?totb 

(C) .fl!J)ltotb (D) &W\ 

2. The distance travelled. by light in an year is 

(A) 1.578 x 1015 m . .Jll'f 9.467 x l015 m 

(C) 3.156 x 1015 m 

(A) 1.578 x 1015 m 

(C) 3.156 x 1015 m 

(D) 9.467 x 10-15m 

(B) 9.467 x 1015 m 

(D) 9.467 x 10-1~m 

3. Which of the following is an incorrect statement of diamond? 

(A) diamond is the purest form of carbon . 

. '1/Jlf" diamond is amorphous 1n na~ure 
(<{) diamond .has the highest melting point 

(D) diamond is the hardest variety of carbon 

iS1"16u®9-1....-ruJDg¢r 6f~ a>LtUl061irrL. uJi>!filu.J )\!iQJIJ)rr....- rurrli;&UJtb? 

(A) a>LtUtoGill'L., a;rr!Tualloii! ~II-I rullj-QJtb 

(B) ' QlLIUlDEllirL, c!91lDmT.°.uiiu ~QllD Qa;rrQir~ 

(C) QlLIUlDEllirL, ~lliUL8' L®@;)£la>Q) Qa;rraur~ 

(D) lillL..tUwQqi-L., a;mrualloii! c!91j!jla;uL,8' tL!J)l~UJrr....- ru"l-rutb 

4. Which one of the following metal is occlirs in the native fol'Pl? 
~ Au . . _ . . . (B) Na ·· 

(C) Pb (D) U 

\ 

Al~L6UJi>!J)l.TI- 6flillQJ ~. L<.:9lrra;tb lf>all{l;i!; )£la>9lo616i> ~IUWlillllilUITlli iJillilli....8;&QnlJ)~? 

(A) Au (B) Na 

(C) Pb (D) U 
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5. Choose the correct answer .for the following statement : . . ' . 
One of the following process is employed to introduce a foreign gene into a cell. 

';jiff Electroporation . ' 

(B) Plasmid 

(C) Ligation 

(D) Electrolysis 

£i,96U(l!)6UQIT6U!iJ!!51rol@lfii91 lfiflUJITQIT Q15ifl6lj8'Q)Qfili <;i;ir)i;Q15@~~ 'l@i06il tb . 

.!91UJQJ ~...,'"" Qlf'ilrolwim .!9!!!51(1Jl"'UU@~ UUJQrU@~uu@tb (lpQ)!!J. . : 
(A) . uSlQi~...,QITUJfTMLil 

· (B) t.SlarrrwuSl@ 

(C) @...,-15Qi . 

(D) uSl~QlllfJDLI(§LI'-l 

6. Solar Energy trapping molecules are found in 

7. 

(A) Cristae 

(B) Cisternae 

~ Thylakoid 

(D) Stroma · 

@afl6Glfirii;61l8' .ffil!!JuSlBiGr BitrQRITLIU@tb @Ltb 

(A) .$Jiflau(:L 

(B) 51'1t>LirG'"" 

(C) Q)15Q)ii;B;truJ@ 

(D) '1tJL._GitrrLDrr 

Soil erosion can be prevented by 

(A) Over grazing 

'1'f Afforestration 

LDm o\Wifl:i;1661JQ) 15@ii;(§tb Bitrl)'OilOf!BiGr 

(A) ~pjl"' GLDu'.J6B'W 

J 

' 
(B) Removal of vegetation 

(D) Deforestration 
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Match the following missionaries deputed by the third Buddhist Council ih List I with the 
pla~s in List II and choose the correct answers from the codes given below ; 

List I 
(a~ Majjhantika 
(b) Mahinda 
(c) Rakkhita 
(d)· Uttara 

(a) (b) 
(A) 3 1 
(B) 4 3 
(C) 3 4 

"' 
2 1 

ruiilmlf I 
(a) LD!J.ln-Qiif;l.i;s;rr 

{b) .. toililJiiflilT 

(c) Viliflirr 

(d) 

(A). 

(B) 
(C) 
(D) 

~flilJIT 

(a) 
3 
4 
3 
2 

(b) 
1 
3 
4 
1 

List II 
1. Sri Lanka 
2; Kashmir 
3. Suvarnabhumi 

4. Northern Kanara district 

(c) (d) 
4 2 
1 2 
2 1 • 

4 3 

ruiili;o)5 II 
1. · .@Q,>ffilms; 

2. s;rr~Lliir 

3. diQJfrQ!![ !.J,t6l 

4. . QJL ffiQTJ)"IT U)fTQJLLLO 

(c) (d) 
4 2 

.1 2 
2 1 
4 3 

The ancient N3.landa University was established during the ~eign of Gupta period 
I. Samudragupta 
II. Sakraditya 
JII. Chandragupta ~I . 
IV. Ramagupta 
(A) I 

(C) III 
-,jiff II 

(D) IV 

UOOQJLU.J p;rorrJiiflilT uros;m~s;yia;Lb '"Jbfli @)Lifli LD ... "'1ir. B;ITQ)~~ro ~Qiffils;Liul..L~? 
I. 5QP~IJ@>Lifliir 

II. 5B;IJ~~U.Jrr 

III. .@VOOLITLO 5Ji;if;llJ@)LifliIT 
IV. 

(A) 

(C) 

IJITlD@)Lifliir 

I 

III 
(B) II 
(D) IV 

• • 
~ 
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10. The Akali Movement was an off shoot of which Movement? 

(A) Aligarh Movement VJ'f. Singh Sa.bha Movement 
(C) Parsi Reform Movement (D) . Theosophical Movement 

~s;rrrol ,@UJMili 6i-6inu191 or~QlLUJ Bilrow? 

(A) ~Q\ls;rrlT ,@UJMii:i (B) . .flffil "urr ,@UJii;s;Li:> 

(C) urn.fl 61Tf)~ @UJMLi:> (D) i.Sli:rww C@irrm Nrou .@UJB;s;Li:> 

11. Who was the first President of All India Trade Union Congress? 
~ Lala Lajpat Rai . . . · (B) JawahariaI Nehru 

12. 

13. 

(C) · Subas Chandra Bose (D) J.R Kripalani 

~£ro.@~UJ ruir~ i)l6inJDlUJ s;rrffilililv.fl6in @ib"JITWiPJ p;roQJruir UJrrir?. 

(A) QJrrrorr QJ!J;!Uf) !flTuJ (B) !J;!Wjil!DrrQJITQJ C:p;Q]i 

(C) s;urr<Oiu !Fj!;f)V C:urr<Oiu (D) C:tJ'.l.i.Sl. BiliflurrwQfl 

. W)ere was the_ first World Tamil Conference was held~ 
~ Kolalampur (B) Pans 

(C) Eazham (D) Madurai 

(!Pp;QJ :LQJB;ji; p;t61!ll lDIT)ljlT@ OTffil(l!j )ljQ>LQUtDJlliPJ?" 

(A) <:s;fTQ)rrQJLi:>[,J.IT 

(C) FFIJ!LD 

(B) urrifl<Oiu 

(D) . lOiPJGll!f 

• 

Choose the. incorrect pair regarding the Acts and the years passed agaillst the Extremists 
by the English : · · 

(A) Public Meetings Act - 1907 
(B) The Newspaper (Incitement to Offences) Act - 1908 

~ The Indian Press Act t 1909 

(D) . The Defence of India Act 1915 

£ij)M'1ilrL .!91Gllm~ .@roQ!!Ts;f8Lb ~li.JililC:QJUJrrs;Gir ~i:re:irrf)s;row .!91U(l!irup;!Ds;rrs; Qs;rrm@ ru)i;p; 
. ' · "L.Lli.Jm u!DJD)UJroru . .@f)ru '"IPI p;ru!Drrm .@roEll!r1' · . . 

(A) QurriPJB; BiU'..L-6 8'L.LLi> - 1907 • 

(B) · uUJiflB;Qiu (®tD!Dffils;~ii;® m:Mtnafl:i;)i!iru) ,..:_LLD 19.08 

.(C) .@Ji;f)lUu u~ifi!i;ro!W "G.LLi> - 1909 

(D) .@Ji;f)UJ6 ,..:_~16 LIITiPJ51T~QJ . - 1915 
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14. · Match the following Finance Commissions with their Chairman : 

Finance Commission Chairman 

(a) Eleventh 1. · , C. Rangilrajan 

(b) Twelfth 2. AM.Khusro 

(c) Thirteenth 3. Vijay Kelkar 

(a) (b) , (c) 

(A) 1 3 2 

~ 2 1 3 
1 2 3. • 

• (D) 3 2 1 

~~5@;@ ~Q)Qlff 

(a) u~QQllrr6'!p)rrruiJ 1. · C. 1Jiil51Jrr!l!Qi 

(b) uQSflQ1J'1ion ... rrruil 2. AM. ®w<::11rr 

(c) u~Qi(Y'Qi!Drrrullil 3. ilil!l!iLJ <::&ro5rr 

(a) (b) (c) 

(A) 1 3 2 
(B) 2. 1 3 
(C) 1 2 3 
(D) 3 2 1 

15. What was the aim of the National Food Security Mission which was started in 2007-2008? 

(A) 

.,/3J 
(C) 

To increase the area under the cultivation of rice, wheat and pulses 

To increa~ the production of rice,. wheat and pulses . . 

To increasethe ex:ports of rice! wheat and pulses 

(D) To reduce malllutrition.in the country 

<::~u; LQAITQfLI urrllil5rrt.'.J4@1U.$5Lil 2007-08-ru r;r)i;15-C:p;rr~!i>5rr5 l!ilruiil5uuL..L@? 

· ( (A) ~@61, <::&rr~mllHD!i>f!JILil LI(!9LI4 QJ'1>55'1ft6&1 lflr(!!jLilq. ~QJ ~QTQl,QJ ~~ifl.$5 

(B) ~ifl5J, <::llilT@'1llfl LfllDl!JILil LI{!!)LI4 QJQD55'1ftQi L!i>uji;~'1lUJ ~~if!.$& 

(C) ~ifl61, <::5rr@'->Lfl LfllDf!JILil LI(!9LI4 QJQD55'1f1Eirr lil"Wf!Jllfli®QDUJ ~:$}5ifl.$5 

. (D) p;rrU<i-ru mLL~l!il @)<iID!!)UffL..QDL @j<iID!!)M 

7 .. MOGS/15 
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16. Match the foll?wing List I with List II and choose the correct cod~s given b~low 

List I . List II 
(a) Bombay Association .1. Surendranath Banerjee 
(b} Indian Association 2. Shiv NarayanAgnihotri 
(c) Servants.of India Society 3. Dadabhai NaorQji 
(d) Deva Samaj, 4. Gopala Krishna Gokhale 

(a) (b) (c) (d) 
(A) 4 3 2 1 

·~ 4 1 2 3 
3 1 4 2 

(D) 2 1 4 3 

6llif!"'"' I-Q)ILJ 6llITl61llf II-1LL6br Qurr®:i;~ £aw Qa;rr(ijl!i;e.;uuL..(ijl~m ®JDluSL..1q-roJ®Ji;@ 6ITl1LJrra; 
<;oir)i;Q15(ijl~ Qurr®:l;@l!i: 

6llITl61l6 I 

(a) ulbumu ai..LL6'lLDLILJ 1. 

(b) [i}~ILJ "'1.LL61llDLILJ 2. 

(c) {i}ji;~ILJ u.ml11Jrrmira;oir 6r6Ja;Lb 3. 

(d) ~lflDITt!JLO 

(a) 

(A) 4 

{B) 4 
(C) 3 
(D) 2 

(b) 

3 
1 

1 

1 

(c) 

2 

2 
4 
4 

4. 

(d) 

1 
3 

2 

3 

6llITl"'"' II 

8'GIJ)i;~IJJ!>IT:$ UIT6lllir~ 

~~ J!jlTfJITILJOO "'91d;60fiG~rrp;IT1 

15rr151TUITtU Qp;malJIT~ 

~rrurrQl i61®6"j.- Ga;rra;GQ) 

. 17. Who aroused Muslim fears by writing that "the objective of the congress is to transfer the 
· political control of the country from the British to the Hindus"? 

(A) Mr. Archbold ,Jt} Mr. Beck 

(C) Sir Sayyid Ahmed Khan · (D) Saifuddin Kitchlew 

@'1u'1ii.ba;mt6Gr u1LJ:i;"'i!ip; i9f1'"1or(ijllb QJ6'la;u5iru "a;rrr6Jililv516b"r ®JDlliiGa;JTG.rr "'9!1J5l11Jru "'9!~10rr1Jp;"'15 
4r6J,$)GQl1LJIT!LL.6l®Jb~ {iJ}bi91lii1!i~@j LD1TtDJPl6lli91" 6T6lll 6T(!9~1LJ6llir ILJITir? . 

(A) Mr. 4ir.5ourrruL.. (B) Mr. Qulii 

(C) lfir "'"'ILJ~ "'9!1!iLDl9J 1!i1T6b"r (D) "'"'l.J~6b"r .$l5QlfroJiy, 
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is. The sub triplicate·ratio of 64 : 729 is 

(A) 8: 27 

(C) 27: 8 

• 

""4:9 
(D) 9: 4 

64 : 729 OTQnjD ..s\iJil~Q,r @@<m (YllDtoLlfil@i ..s\iJil::i;tb 

(A) 8 : 27 (B) 4 : 9 

(C) 27 : 8 (D) 9 : 4 

· 19. There are 5 friends P, Q, R, S and T. P knows more than S. Q knows as much a,s T. R knows · 
less than T. S knows more than Q. The best knowledgeable person amongst all is 
~p (B)Q' ._. 

(C) S (D) T 

P, Q, R, s lOJDjj)llD T <!lbililC:UJrrrr p;6Wruira;.O-. P-riJ® S-ts ..slL ~~a;tb Q::i;ITllLJtb. T-fiJ@j Qp;rfl)i;~ ~ITT..s\ro . 
Q-fi>® Q::i;rfllLJtb: R~fi>® T-re GlllL @iQll!DQJrra;ii; Qii>rfllLltb. S-riJ® Q-m Glll1.- ~~a;tb <ili!)ITllLJtb. @QJrra;.nlro 
~~a;tb Q~rfl)i;::i;aJir UJITrr? . ' 

(A) P (B) Q 

(C) S (D) T . 

20. Find the next term of the seguence : 

o. 1, l, 2, 3, 5, 8, 13, ... 

21. 

(A) 17 

(C) 31 

Q~rrLITlbirr ~@~ fLJl)IUQDU.$ a;rr6Wr;,;: 

0, 1, 1, 2, 3, 5, 8, 13, ... 

·(A) 17 

(C) 31 

• 

(B) 15 

JI' 21 

(B) 15 

(D) 21 

Simplify (o.111f +(0:222f-(0.333f +(0.~33f(o.222) 

(A) 0.1 (B) . 0.2 

(C) .. 0.3 , 0 

"'®5<§a;: (o.111f +(o.222f-(o.333f+(o.333f(o.222) 

(A) O;l (B) 0,2 

(C) 0.3 (D) 0 
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22. A solid metallic cone of base radµis 2.1 cm and height 8.4 cm is melted and recast into a 
sphere. The radius of the sphere is • 

~ 2.1 cm (B) 4.2 cm 

(C) 1.05 cm (D) 0.07cm 

. . 
c!ij,l)"ID 2.1 G&.LE. ILQlt..UJ ~"1-uurrBi(!JltD, ILUJ'ltb 8.4 Qlf.tO. Qs;rrai!TL !LC:rurrs; ifj}Lffi 8'>.tDLJ ~""lPI "-<!l;.$8;1 

Ca;rrro &J"!-6l'ilru Q,.IJJUJLiul..Lrr"1>, C:s;n:ro~m ~lltb · 

(A) . 2.1 Q,..tE 

(C) 1.05 Q,..tE · 

(B) 4.2 Q,..tE 

(D) 0.07 Q,..LE 

23, A rectangular sheet of size 220 cm x 150 cm is rolled breadthwise to form a cylinder, volume 
of cylinder is 

~ 577500 cm3 (B) 57500 cm3 

(C) 50000 cm3 
.· (D) 33000 cm3 

IL(!!)QlQT 6U"1-&Jtorr8;s;uu@.!lil1Di9J 6rmlru iL@maruSlm s;m "'1l!OOQJ 61"mm? 

(A) ()77500 s;.Q,..w (B) 57500 s;_Q,..LE 

(C) 50000 &.G ... LE (D) 33000 s;_Q,..LE 

. 24. . A and B can do a piece of work in 18 days; Band C can do it in 24 days; A and C can do it in 
36 days. All working together can complete in 

(A) 12 days. 

(C) 14 days 

(B) 13 days 

tJl"f 16 days 

A to!iJl!Jltb B SI® C:ru@~UJ 18 )lin'L.s;Qfi~tb. {i}@lfi B to!iJ!l)ltb C 24 )lirrl..Biatiwt.D. A to!iJl!Jltb C 

36 16rrl..Biatiww G..uJ~ · <!Jl"l-LiurrR-s;m. ~~""6U®tb ~all lflDUJ~ru a""Ql~ Q,.u:ilfirrru C:&J@QX;f)UJ 

· QP"l-Liulfi!iJ(!li ~ruuu@rum 

(A) 12 )6rrLBiSr (B) 13 p;rrl..s;.tr 

(C) 14 15rrl..s;6lr (D) 16 p;rrl..s;6\r , 

MOOS/Hi 10 ~ 



25. Which number will replace the question mark in the figure?· 

~- 625 

(C) 1175 

(A) 625 

(C) 1175 

3 

(B) 1025 

(D) 825 

(B) 1025 

(D) 825 

26. 5% of income of A is equal to 15% of income of B and 10% of income of B is equal to 20% 
of income.of C. If C's income is Rs. 2,000 then the t.Otal income of A, B and C is · 

f3 

(A) Rs. 6,000 

~ . Rs .. 18,000 

(B) Rs. 14,000 

(D) Rs. 20,000 

.A-u516ir 596 QJ(!!ilDIT61TLil B-u516ir 1596 QJ(!!iiDITQT~!i>® $lDLil lD!i>girili B-uSlm 1096 QJ(!!ilDITQTw C-u51m 20% . 
. QJ(!9lDtr61t~fi>@i $1DLil. C~uSIQr QJ(!!ilDtrmLil l!'i· 2,000 ormlw A, B lD!i>l!)ILil C-u51m Quirr~ QJ(!!iIDJrQTLil 

(A) l!'i· 6,000 

(C) ®· 18.000 

11 

(ll) l!'i· 14,000 

(D) ®· 20.009 
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27. is a distribution model in which applications are hosted on a remote server 
and made available through Internet .. · 

. ~ Software as a service 

(B) . Platform as a service 

( C) Infrastructure as a service 

. (D) Hardware as a service 

G6U!9J @L~~ru @®,;;®Li> urr6Uillro :Lmm uUJmurrL.@ QLOmQurr(l9L.iE6!lm @6!lE<mrUJ~i!ilm (!!l61lLOrr,. 
u.$liT.ffi~ <191Qfl$@itb (Yl6!l!D ~@itb. 

• 
(A) QLOffiGurr(l¢r G8'6!l6U 

(B) t5ll\!TrrL.0.urriTtb Guro6i.i 

(C) !?-ITT ..C:..L6!lLOULJ (]8'6!lQJ 

{D) QJQfQUIT(!!jITT ~QJ 

28. Which article of the ~ndian constitution justifies the importance of the Ninth Schedule? 
. ' 

91'A) Article 31-B 

(C) Article 31-D 

{B) Article 31-C 

(D) Article 33 

@QrU~ITQJ~ <191LLQJ6!l-u5lm (Yl$.$!UJ~Qj~6!)~ JtlUJrrUJuu@:i;~.$1Qr!]J @)i;i!ilUJ <191g61UJ61J6!lLOULj G>Sl~ . 

<OT~? 

(A.) G>Sl~ 31-B 

(C) G>Sli!il 31-D 
,_ 

(B) G>Sl~ 31-C 

(D) G>Sl~ 33 

29. Which article deals with the duties and powers of the Comptroller and Auditor General of 
India? 

(A) Article 141 ~ Article 149 

(C) . Article 151 . (D) Article 153 

@Jt>~iu p;6!)61J6!ll0$ 8;El!M$8;JTUJrr LOJD!J)JW ~..ml$6!)8;UJIT61Trrlm 8;L6!ll08;ITT LOJD!J)Jtb ~~8;1Tflnil'"6!lITT 
G>Slm$@iililQ-r!]J G>Sli!il .,.~? · 

(A) G>Slph· 14 7 (B) G>Sli!il - 149 

(C) G>Sli!il -151 (D) G>Sl~ -153 
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30. · In 1991, the first country to introduce citizen charter was 

(A) Belgium (B) India "'1 England (D) Norway 

1991-ru QP~<ir Qflfh@lru LOd;s;m 5rr.%.r:i;roi!i ~!DlQPs;Liu@:i;ib!UJ JliIT@ 

(A) Quru~UJtil (B) @~UJrr 

(C) @ffiiffilrurr~ (D) · )liITiiGru . 

3L The Union Territory of Delhi became known as N;ational Capital Territory of Delhi since 
1991 after this amendment 

(A) 

(C) 

(B) 

~ 
81'' 

69tb 

QLru@l !Y>QfllJJm . ..si~U:i 1991-ru @/ii~ ~1JMUJruroLOuy ibl®:ii~pjlJi>® i.Slmy a~UJ lfJl6!>ruJ!is;rr 
i.Sl~ ~<irgll ~!DlUJWULLl9J 

(A) 8.9 ru©l (B) 81rul9J 

(C). 74 GU@! (D) 69 6Ul9J 

32. Rajya Sabha members are elected by 

·(A) Directly by people ~ By members of State legislatures 

(D) Only by State upper houses 

33. 

(C) · Local Government institutions 

LOIT~QJ!&Js;61T@QJ IL©IWi.Sloorrs;romp; G~iT)i;Qi!i@LIL:J§! 

(A) ~GIT G)lif/llj.UJrrs; (B) LOrri6Jru B'LLLOm!lJ !Ll!)IUi.SlooiTs;61TITW . 

(C) !L~61TITL..8'1 ~@LOUL.Jsis;mrrru (D). · wrri6JQl Gl)lruroru !Ll!JIUi.Slooirs;<mrro LOL..@tb 

The 55tb Constitutional Amendment Act 1986 provided for the establishment of the State of 
, ' 

(A) Goa 

~ Arunachal Pradesh 

(B) 

(D) 

Sikkim 

Pondicherry 
.• 

1986-:tb 4fiisr@@tUJi>JDUULL 55-GU@I ~8'1UJro@LOULJ 8'LL ibl~iiip;~m Ullj. IL(!!iQ,ITOO L01Ti6Jrutil 

(A) Gs;rrrurr (B) . 8'ld;ffiltil 

(C) . ~@61irrrr6<J'Ql i.Sl~5til (D) urrfiisrllj.6G5rll 
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34. 

35. 

The ~ean of 15 numbers is 213. If each number is divided by 3, the new mean will be ti! 71 . . . . . . . . (B) 639 . . · • . 

(C) 210 ··· (D} A2.6 . • 

) . 
. 15 ~a;'1fl6ir 1F1)mml 213 6T6ira>. viruQwn'Q.? 6TQisrm~ll.jtb 3-~ru QJ@i~rrru llilmLffi@itb Q"Qisra;Qf!Qi 

· lfl)'ITlfifilLJITQI~ 

. (A) 71 

(C) 210 

(B) 639 

(D) 42.6 

The·meari weight of 40 students using the data given below is 

Weights (in kgs) : 48• 50 
• 

· No. of students : 5 26 
~·51 

(CJ 51.5 

(A) 51 

. (C) 51.5 

53 54 

10 5 

(B) 50 

(D) .52 

48' 50 53 54 

(B) 50 

(D) 52 

.. 

36. · The arithmetic mean ofa group of 100 observations was calculated as 63. It was later found 

that one observation was wrongly taken as 75 instead of 65. The corre~t mean is 
~, ~ -

(A) 63.1 (B) . 63. 

~ 62.9 (D) 73 

100 .r&iraiQ)Qrli; Qa;lt&irL ti>® QjhlT@j~uSJISir lfl}'ITlfifi 63 Q"QTli; a;-~LUUL~. \5)6iry, 65 .rQriv. 6T6'ilr 

~gljh~ll> 75 6TGirgl Q"@~li;Qa;rrm61TUµL..~ ~ILJ IOUJi;jh~' 1fifi1LJITQI lfl)'ITlfif!U.JITQI~ 

(A) 63.1 (B) 63 

(C) 62.9 (D) 73 

MOGS/15 . 14 

.. 



37. For a set n values, Ex-i: is equal to 
. - . 

(A) TIX • 

t)P'f' (n-l)x 

'n' IL!1)!Li4....n Ql/irrail"c.. ~® G151T~u5lru ,Ex - x = 

(B) (n-2)x 

(D) 0 

(a) n:x (B) · (n-2)x 

(C) (n-l):X (D) 0 

38. Mean of 100 items is 60 and their standard deviation is 20. Then the sum of squares of all 
' . the items is • 

' 

(A) 46,000 

(C} 3,62,000 

tJllf> 4,00,000 

(D) 8,000 

• 

100 IL!!JLil.l"sllQr .8'1J1T.rol 60 LDJD!))ltb &1o;uJl>JDl"'1 ~.:_.__~QJB;a;tb 20 m:<;illru -m~ L!))ILi4a;a!J"'1 
QJff~Qrr Bi>.L.@ 

(A) 46,000 

(C) . 3,62,000 

(B) 
(D) 

4,00,000 

8,000 

. 39. Which of the following"plimets of the solar system has the longest day? 

(A) Mercury (B) Jupiter 

~ . Venus (D) "Earth · 

@wJl>!lll~~ ~ t61&~~5LOITQI ua;W Cp;1Jtb @~JD!§!? 

.(A). 4~ (B) ~wrripQ! · 

(C) QQJarall · (D) 1.J,ihl 

40. . The tribal population in Andaman and Nicobar islands belongs to the· 

(A) Aiistraloid race " (B) Cacucasoid race 

(C) . Mongoloid race . ! ,,jll'f Negroid race 

&l~LOITlilr )61.!;Ca;rrurr ~~Qi LQrQT LI\,!!ril(!!ikf. LOMQr ~~ @m~ IFIT~rr59r 
(A) 4Wkf.l)"Qlrru'.J@ ~mtb (B) 5.$5Sl!F@ @mlh 
(C) .. L0"'1C5rr'61L.@mtb (D) ~IJ@@mtb 

15 .... 

• 
• • 
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41. International Students Day is celebrated on 

(A) October 17 . ~ November 17 . 

(C) November 21 · (D) December 17 

(A) ~.;;aururr 17 

(C) p;aililurr 21 

42. Paulina Vega-Miss universe 2014, belongs to 

, (B) Jliaililuir 17 

(D) l<J.lfLDLI ir 1 7 

, tJl'f Colombia . (B) Equador 

( C) Brazil (D) Bolivia 

• 

(A) Qa;rrQlt.Oi5lturr 

(C) i5lar.r6lru 

(B) r,F.$QJITLir 

(D) Qurr..s161Slturr 

43. Which is the first districfoflndia to have complete Rural Ihoadband Coverage? 

t}I!· ldukki in Kerala (B) Chennai in, Tamilnadu 

(C) Vizag of Andhra Pradesh (D)" Bengaluru of Karnataka 

(l}l@ ililr.rrrtn4jl) airrQQlrrrol (Broadband) uf,fLi4 1uirro ~Ji;~turr61Slm (1Jl16W tnrraiL.Llil <rr191? 

(A) @@B;ilil {~rorr} (B) · QlfEi>r<il""' (p;uSJw.mrr@) .·· 

44. With which country, India recently si~ed the Memorandum of understanding on tourism? · 
(A) . Iran . , . ,,fll Oman . . . .. 

(C) Syria • (D) Switzerland 

. (A) Fl'ljrrm (B) VllDQr 
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.45. 

• 
46. 

Match the following : 

Books ..l\uthors 

(11) The gap 1. Jhumpa Lahiri 

(b) ·The lowlands 2. Jey:aMohan 

(c} Venkadal 3. Richard Flankan 

(d) The Narrow road to tl].e deep North 4. Thomas,Stund Roff 

(a) (b) . (c) (d) 

(A) 1 4 2 3 

~)-.4 1 2 3 . 
. (C} 4 1 3 2 

(D) 2 3 1 4. 

,. 
lfITlUJIT!E Qurr®~i!if!E: 

~!E!fil!Eoir· '"@Hrrmfr 1Eoir 

(a) ~ c:a..:. 1. ~tbu QJ.$1ITl . 
(b) ~-CQlrrGQJ<l0n:.6iu 2. Gai1LJCtllrr IJ;Qr 

(c) QQJQior .$LQJ 3. ITl~frL..0.t5lQJQ-rlJ;Qr 

(d) ~ Cp;Cr.rrr Cr.rm:.. @ ~ bJ-LI p;rririi; 4. ~rrLOQu B=~Eiifll._ l]"ff~
0

oU 

(a) (b) (c) (d) 

(A) 
. , 1 4 2 3 

(B) 4 1 2 3 
(C) 4 1 3 2 
(D) 2 3 1 ·4 

On September 2014, the spectacular display of Northern lights was seen arotind the 
' . -· A 

mountain Kirkjafell. It is in 

.. -~ Iceland· (B) 

(C) Norway (D) 

Switzerland 

Sweden 

• • 

Ailfr6'8ilrr:.QuQi orQiw tn00>Qlu.slro""6 a;!DJDl@.lltb Gl.JL iJ!'1!l!E9T:!9J i£1wtnrrmQl Gl.Jrr'11rairrrotb 2014. Q,.LiLtbuITlQi 

!EITQIGTLIULL:!9J. @tbtnroQJ .!9!6"lD/i;i!ifoir'1i JD.IT@ GTi!if? . 

(A) 1:B006llrr)i;i!if 

(C) p;rrirGGl.l 

17 

(B) a;6@Llffr6lllf)i;:!9J 

(D) OO~L6'r . 
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47. Match the following : 

Sports personalitiea - Country 
(a) Kim Clijsters 1. - Belarus 
{b) Rafael Nadal - 2. Belgium 
(c) Robin Soderling 3. Spain 
(d) · Victoria Azarenka 4. Sweden 

{a) (b) (c) (d) 
(A) 3 2 4 1 

~~ 
2 3 4 1 
3 1 2 4 

(D) 3 1 4 2 

£Y!Bi5'iiorLaJJi>mlD Qu1r(!lj~lli: 

66lmQTIUITL@all)"UQlri.Ja;w p;rr@ 

(a) £1i.o £1aflauQ~1r9u 1. · QuQllTQ°Giu 

(b) gaLJC;o J6L..ITW 2. Quru~1LJtb _ 

(c) l)"IT~Qr <:61rLftroJri.J 3. GfuQuu5lm 

·(d) - 66l~unlhurr ~'11>Ql)"ma;1r 4. Qu'51...m 

(a) (b) (c) (d) -
(A) 3 2 4 1 
(B) 2 3 4 1 
(C) 3 1 2 4 
(D) 3 1 4 2 

48. Who is the Imliarl personality s~lected as the Executive Director of the World Bank? 

(A) . Chandra Kant Vaji 

(B) - _Atul Khare 

,A· Subash Chandra Garg 

(D) Atul Bansal Bihari 

112..Qla; QJri.J.$1u5lm Qgu.iw@lllBi@>Qlrr ~a; ~iT)i;Ql6@1£aiuuL.."l-@Bi®tb @)i;~ILJrr tu1rrr? 

(A) .!F)i;~ll a;!')i;l!i QJ~ 

(B) ~Qia;Gll 

(C) a;urr"1o "')i;~'l a;rrrrBi 

(D) ~19!W UQrWITQJ ~jilIDmfl 
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49. Match the following:. 

(a) . Rajiv Awaas Yojana 

(b) Jalmani 

(c) Bharat Nipnan 

• 
1. Rural·infrastructure 

2. Public. housing scheme 

3. Slum free India 

(d) Indira Awaas Yojana 4. Safe and clear drllUQng water in rural 
schools. 

Choose the correct option· 

(a) (b) (c) . - (d) 

(A) 3 1 4 2 

·.~. .3 4 1 2 

. . (C) 3 1 2 4 

(D) 3 2 1 4 

lRftu.i)ta; QurrQ!j~tb : 

(a) . l)'IT~W 4QJITW c:ttJrre-,iQTIT · 1. .$lljlrt.6lu.i QJsnT~ 

(b) fllWLOIT~ 2. Qurr~ @i"l-i6l@U4 i!ilLL.Lb 

(c) urr11!f; .ffilin.orr6M 3. @ill}-'™' prurr filjbi!ilu.irr 

(d) .@)i>i!il11rr 4rurrw C:u.irr1£QTIT 4. .$111rrt.6lUJ uerafla;af)Qi ~uJQ)LOUJIT6lll@jll\-~fiiorllllfir 

__ iM\u.irr'11! Qi!QJLQ)UJ i;r~a; : 

(a) (b) (c) (d) 

{A) '3 1 ·4 2 

(B) 3 4 1 2 

(C). 3 1 2 ·4 

(D) 3 2 1 4 

•. . 
50. Which country signed memorandum for smart Ci.ties in India? 

. - - l 

(A) Russia (B) Japan 

·"" Ulli.ted States of America (D) China 

.· . 

li)~u..irr~ 001.nrrirL.. )Mi11itim 9!~ 9uu)bmw ma;Qu.i@HIL..L p;rr@i;ril? 

(A) lj'~IUIT (B) · 1£ULirr.or 

(C) ~Qwillu ~UJ p;rr@a;9r · (D) larrr . 

19 
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5L Which is a defect of the eye? 

tJ"f. Coma,· (B) Echo 

(C) Resonance (D) Osmosis 

~ 

10ool<R!fl.ur ®""!!Jurr@ or191? 

(A) (gllilTl.DIT (B) orif;lG1JiT.& 

(C) vi~p;i!Jfr61J (D) "6i.J@J,@ Ul)6U6\J 

52. · Match the following List I with, List II a_nd choose the. correct answer from the codes ·given 
below: 

List I List II 

(a) Recoil velocity 1. Galaxy 

_:{b) Remote sensing 2. Gun 

(c) Source of energy 3. Sun 

(d) Milky way 4. Satellites 

(a) (b) (c) (d) 

(A) 4 3 2 1 

~ 2 4 3 1 

(C) 3 2 1 4 

(D,) 1 3 2 4 
I I. 

uL...1q.UJru r · f!...L..ur ul..1q.UJru IIaiu Qurr<19ii;191 .... £aw ®WlLitSll..@liiJw ®JDluS@ ... .rriru @®Jii191 .. iflUJrrQT l 
6l51Q'iL.mUJii; Gp;fr)iiQp;@. . 

ULiq.UJG\J I · u l..1q.UJ "? II 

(a) tSl.ur @UJM f)m,. a6Ullit.b 1. 615loouS.ur #)1J.tr 

(b) Qp;rrmQJML..@uurn: .. @ fL"'"'fr6l51 · 2. 191 LI Li IT ii;.$1 . 

(c) ~!Dwru (IJlQJt.b 3. (®ifiUJm 

(d) urrru ru~ii;if;llJro 4. 191..,"'"',;;a ... rrliir 
• 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 2 4 3 1 

(C) 3 2 1 4. 

(D) ·i. 3 2 4 
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53.. The Process used for the manufacture 9f ammonia is . 

(A) Contact process (B) Ostwald process ., ... Haber's process (D) Llnde's process 

• 
d9tiiiaU>irml!UrrQ)ru Qu@tnro~ro IO\UrrITl,9;@>ib (!j)Q)!D 

(A) uITilf QPQ)!J) (B) ~wrurrru@ <Y'Q)!D 

(C} ajM)uiT QPQ)!D . (D) Q\j..mraL (!j)Q)!D 

54. . Which one of the following is not an Lewis base? 

(A) 

(C) 

(B) H 20 

,jlf A1Cl3 

(A) 

(C) 

55. Photorespiration involves three cell organelles. What are they? 

~ . Chloroplast, Mitochondria, Peroxisome -

· (B) . Lys\)sotne, Chloroplast, Peroxisome 

· (C) Golgi. Mitochondria, Chloroplast . 

(D) Lysosome, Peroxisome, Mitochondria 

(A) 

(B) 

(C) 

(D) 

· dillro~, ""1DLaLIT,.IT6iim.'.JllLU rr8;,.<;ir, U8iffi!,.6'1!fl,.ifu<i;<>ir 

Q)~a,.ITa,.ITLD, Qu~rrS;onllalfrrib,..ir, Q)tDLaLIT.$1T~LITILUITMW. 

. 21 
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56.. Liver cii:rhosis is caused by 

(A) Smoking 

(B) Chewing tobacco 

(C) Chewing beetle leaves 

.Jl'f Consuming alcohol 

lli.;ix;Oi;rQi Q<!fru ~Wli!i~@i llilT!fQilrLD 

(A) • L!Sl~p;Qi 

(B) . L1a>a;t6)Q)QJ QLOrurup;1rru · 
' (C) . Qru!iJ!DJroQJ Q1Drurup;1rru 

. (D) ·~ ~®)b~rup;1rru 

• 
,. 

• 57. · · Kaziranga Nl!tional Park is famous for 

(A) Tiger 

(B) . Musk deer 

·· (C) ·· Elephant 

,,r" Rhinoceros 

a;1r6li;rifila;1T ~UJ 1.J,1fila;1r or)b)'i QS)QJ!fil8'1!iJ@i l.llli!,P Qu!iJ!Dl9J? · 

(A) . LIQ\1 · 

(B) ~~ITQr 

(C) UJITQlro 

(D) lli1T6'iNL1TuSl@lliLD 

58. Goitr.e is due to lack of 

,pf> Iodine 

(C) Ct!lilium 

(A) ~GUJir"l-Qi 

(C) 51TQJ§iUJUi 

MOGS/15 22 

(B) . Potassium 

(D) Phosphorus 

(B) Qu1rL.L1T6lUJLil 

(D) lli)bi!illii,il 



59. Match the following battles of Babur with their kings and choo.se the correct answer from 
the codes given below·: · . 

List I · List II 

(a) Battle ofKanwah 1. Ibrahim Lodi • 

(b) , Ilattle of Chanderi . 2. Rana Sanga - · 

(c) Battle. of Ghagra 3. MediniRai 

(d) Battle of Panipat 4. Mahmud Lodi 

Codes: 

(a) (b) (<:) (d) 
(A) 4 3 2 1 

•"(ci 2 3 .4 1 
• l 4 3· 2 • 

(D) 2 1 4 3 
; 

Qa;rr~uuL.@Eirm · u1TLitilllir C:urrir&;Q)m ~ ~111Fira;~u;i11 Qurr@p;~ £~i61a;a;uuL.L · 
@>JDltn@ii;61flrol@~ !FlflUJIT"5T m\Q>LQlUJp; ~if~Qj!i@ : 

LILl<\-UJQJ'! LILl<\-UJQJ II 

(a) ii;Eisfrurrw C:umr 

(b) lffe~tilw C:um'r · 

(c) a;1ra;111r C:umr ' . 

(d) urrEOfluuL.@u C:Urrrr 

~td@a;Eir: 

(a) (b) (c). 

(A~ .4 3 2 
(B) 2 3 4 
(C) 1 4 3 
(D) .2 1 4. 

• 

(d) 
1 
1 
2 
3 

1. 
2.. 

3~ 

4~ 

@WfT~Ul C:QJIT"t 

IJIT-IT ~iSlii;rr 

Qi:o:®Q\l 11rr.U 

lDJf~ (J:QJIT"t 

60. Who treated the Trea:ty of :Purahdhar as a "Scrap of Paper" and sanctioned operations 
against Marathas? . · ,. · 

(A) Lord Wellesley · (B) Lord Clive· 

,Y Warren Hastings (D) . Cornwallis 

. 
· LJllW lLLEisruk\-a;- "tLuC:UJrra;i:o!il!!J ~ NL.@" ~Eisrll)I ~ i:ovrr~iT.$ilr ~· ir;rra;~ lfJLH 
~@llDiiUJOOlm UJ[Tir? 

(A) QQJQiQQ>QuQSI tStvLJ (B) . ~Q)QTQJ i.Sl11LJ 
(C) . rurrgEisr.C:jilllfEil>"tiSl4;1\> . . (D) a;rr11Eisramroloo . 
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61. Finance Commission in India is appointed once in how niany years? 

(A)· Three 

~· Five 

(B) Four 

(D) Six 

@Ji;~UJrr66JQi pjl~ffi@j~ rorf>fb~"" ~6Mf@lli~@j ~®QP~ID ..!')IL1lirf,fbUU@8illJ)~? 

(A) eipoow . (B) . p;rroo@i 

.(D) ~ 

62. Unification of the domestic economy with the World Economy is known as 

· (A) Liberalisation fll"f Globalisation 

(C) Privatisation 

(A) fblT!)'ITQTUlUJUlITffi@j[bQi 

(C) fb(il!\JUJrrirUlUJUlrrfb.U 

63. In India Fiscal year starts from 

(A) 31" March 

(C) 30•h April 

(A) L1lrrir6 31 

( C) qu !Tru 30 

64. America's Central Bank is 

$ ' Federal Reserve Ba_nk . 

(C) · Ain!Jrican Stock Exchange 

.!!llQUliflffil!irr661m Ulf,~UJ ruffil.$1 roroou~ 

(A) QuLl)"ru ffllfirru ruffillID 

(C) ~QUlfflffilli uffil@i )Blwru.,,,U:) 

MOGS/15 

(D) Nationalisation 

(B) =>-rolliUlUJUlrrfb.U 

(D) Gfb§!UJUllJJLOOfb.U 

~ l•'April 

(D) 1 ''March 

24 

(B) '1u!Tru 1 . 

(D) Ulrrir& 1 

(B) Central American Bank 

(D) Bank of America 

(B} Ul~UJ ~QLJlITlffil!i rurfu.$1 

(D) ~QUlITlffia; rurfil.$1 

' 



65. 

66. 

. ~ro:,~efinition of money.supply is 

(C) ma · . 

LI-. ~Q\jut5Jc;M (!5!l)l.$1UJ LI-ti> <>fQTU!!iJ 
.' . - -

{A) m1 
(C) m3. 

Agricultural income is taxed by 
(A). Centre 
(C) Local authorities 

Crumrr..;.r..,LD 6U@u>rtQ!I rutfl..,UJ '11S\~Bxi;uu@6U!!iJ 

(A) LD~~UJ ~'l"' 
(C) ~Q7.,,.rrl..~ ~""lDULjlliQf . . . 

(B) m2 
(D) m •. 

(B) m2. 
(D) m. ' 

.l!1f .State 
· (D) · Both Centre and State 

(B) • LDrr.ffilru ~'l"' 
(D) ip~~l!J ~r,rin. tnrr/5]ru ~IJ"' @ro-)i;!!iJ 

. 
67. What is common about the following personalities? · 

Sachin~a Sanyal, Gai:uish Pingale and Baghi Kartar Singh 
(A) Newspaper Editors- ,flllf ahad<trites 
(C) Members of Home League (D) National Leatlers 

£\ilii;lli.,;,rL LDQfl15irlli"1flrol..CUJ l!irr.wfuu@til '1Jl@uS1~15til <>rQiQ!I? 
' . . 

~6'T)i;IJIT lfWUJrTQJ, l!iC-Gi!j. tSIIT.il!iCQ} LDW!!)ILi> u.il <!5irf51Tir uh@ 

(A) u~tflii;QJl!i u~uurr~tflUJirlliGr (B) ~15rrir 11il..~rolld8' ~lfir)i;l56lJirl!iw · 

(C) · f5ErrQ!lrrL..5l@UJii;lli ~(!Jlut51Q!lirllim (D) C155l~ f5""W6Uir16"1r 

68. Which is incorrectlJ matched? . 
. (a) Common Weal . . 

(b). The Young India 
(c) Rast Gaftar 

. , The Bengalee·. 

(A) (a) · 
(C) \c) 

' 

• 

(1) Annie Besant 
(2) Lala Lajpat Rai 
(3) · Dadabai Naoroji 
(4) Rajaram Mohan Roy 

(B) (b) 
(D) (d) 

f56U!J)ITQ!I Glurr~15it.ro15 in•@t5liq.Bxi;~Li>: · 

(a) a;rrLD6'T 65@ (1) · ~,;OrQfl Qu.%0rl.. 

(b) ~ UJffi:J @ji;~UJrT (2) QlrTQlrT QltiilU~ IJrTlLI 

(c) vrrwl.. a;u15rriT (3) 15rr15rrurr.U Glio~vrr~ · 

(d) ·~ Guffi:Jl6rr@I' (4) r.rrrtJirrr.rrrtil \]:LDrrl66'T'efrr.U 

(A) (a) 
(C} (c) 
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(B) (b} 
(D) (d) 
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69. Choose the incorrect pair regarding National Movement : 

70. 

(a) . Congress League pact at Lucknow 1916 

(b) Massacre of Jalian Wala Bagh 1919 

_ flif . Disappearance of Subash Chandra Bose 
Y .from his Calcutta house 1945 

(d) · Split in the Congress at Surat 

(A) (a) 

(C) . (c) • 
. . 

(B) (b) 

.(D) (d) 

1907 

. £!,j1A;a;Qai-1.. "'9161ll;Jrii;@@61lQllTl!i~LD C:~IU @IU.9;~~ IFITfrfei!';<il>QJ . .@~Qi 61"~ i!';QllJJITO;Jr .@<;oio;m? 

. 

(a) QJA;C:O;Jrrr6>Slru a;rrri.J!tlvau @ii; viuufe~tb .1916 

(b) t!ilrr61Sl11Jm wrrQJrrurr5 u@Qa;rrQ)Q) 1919 

(c) . a;ru~rr 6'll...1<J..61Sl@fe~ .. urro;j,p 1Ffe~tJ(:urriiu lD61llJJl!';ru 

(d) <!!!Jll;,~ a;rrri.i!tlv61'"1' i.Sl61T61J 

(A) 

(C) 

(a) 

(c) 

• • (B) (b) . 

(D) (d) 

1945 

1907 

The chronological order of the fre~dom movem!lnt in India is 

1. Mountbatten Plan 

2. WavellPlan 

3. Cripps Missi(ln . 

4, Cabinet Mission 

(A) 4, 3,2, 1 (B) 1, 2, 3, 4 

tfl't. 3,2,4,1 (D) 2, 3, 1, 4 

-
@fe~ILJ ~fej®l)'Ll C:umwL..1..ri.Jl!iQler wrrlm1Fuu@~a; : 

1. QLD61TEiJJLC:uL..1..'"1' i®L..t.'.:tb 

2. C:wwru i®L..1..til , 

3. £11\U.au §II~"®@ 

4. · G:a;i.SlO;JrL.§11@5®@ 

{A) 4,3,2,l (B) 1, 2, 3, 4 

(C) 3, 2, 4, 1 (D) 2, 3, 1, 4 
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71. The pre.sent ~orth of Rs. 242 due in 2 years at 10% per annum compound interest.i.s · 

tJlf Rs.200 (B) . Rs, 225 

(C) ·Rs. 260 (D) Rs. 190 

· """Gilr~ 10% 8il.L@ ru.:..llt mfD?;lf)Q.>. @1T'1ilr@ QJ(19Lrt.i!6~® ®· 242 ~ 8il.ll\.W G!firr@!liuS16ir 

ti!i>C:Urr~w tnj6U4 

·(A) ®· 200 

(C) (!9. 260 

(B) ®· 225 

(D) ··~. 190 

72. The. compound interest on Rs. 30,000 at 7% per anriu~ for a certain period is Rs. 4,347. 

The period is 

(A) '4 years 

(C) 2! years 

(B) 3 years 

.-,Jl"f 2years 

~- 30,000~Jb® @®
0 ®i@Lit5lLL a;rra>#Jro 7% i;r6if!D c!ii>Gilr@ ruL,.ll\. oofD?;~ro i!il@!--S;®ili 8i1.L.{!il ru.:..~ 

· . QjlirrQla; ®· 4,34 7 i;r6"Jro, ii;rra>:c!91arai 

(A) 4~@!61ir 

(C) 2t~@a;lir 

(B) 3 ~@!lilir 

(D) .2 ~Gilr~a;s;. 

73. The cost of paintj.ng the four wails of a room is Rs. 425. 'Eacho~ of the length, breadth and 

• 

. height of another room is' triple that of this room. The cost of painting"the walls of this new · . - . . 
room is 

(A) Rs. 1,275. 

(C) Rs. l, 700 ) 

(B) Rs. 850 

. · "1' Rs. 3,s25 

Vl(19. c!91Ql!D!&;if p;rr6if® B;QJrr!liQlQT rufr.-ain.i:> !,j,lliQllfiJD.® ~LD Q6Qlaj (!!i• 425. @~W"'!!>&OOr E£i1L 

tnJbG!Drr® &!@1DuSl"1 ~U>, c!91"1ltD lDJDlll!W Lli.Jl)'L.i:>. ~Qrurr6irlll!~ (IJlt.i:>mLrt.l@i i;rQ@c;i>, 4!1ilw c!9!Ql1DuSl6ir 

BiQJii;.a;~ QirrQlllTLil !J<F . .!l!.@iLil Q6Qlai . 

(A) (!!i: 1,275 

(C) <'.'!i· 1,700 

27 

(B) · <'.'!i· 850 

(D) (!!i. 3,825 . 
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74. · . P, Q, Rand Sare tO be seated in a row.Rand S canno~ be together. Also Q.cannot be at the 

third place. If P and Q are together, which of the following must necessarily be truf!? 

(A) R is not at the first place 

./> . ' 
Pis at the third place 

(C) S is at the first place 

,, (D) R is at the first place 

P, Q; R LDW1!l!Lil s """i:t!Gturrl'r ~l'r ruifl6'l1H1Slru ~LDI)" G6l.lOO"f-ll.jITT61T§J. R LDW1!lltD s ~Gbr)Drrlli @QljdilG . . . . 

QP"f-lUIT§J. Q ('Ji6brwrrru@ @'-ffei!)ru @®"'"' QP"f-lUIT§J. P tnli>1lll"' Q ~GbTJDrr"' .l'iJ®/i;i!irrru. t.SlGbrru®ru""ruii>IDfoir 

'"~ ~ru5ltut.D 6illtu1r1G .@Qlidi@itb? 

(A) · QPp;'11lL~~«> R .@ru6'lru 

(B) ey>~)DITt.ii .@t_ffe~ru p .@QliULI~i'r 

(C) (IPi!i.olL#ru S .@QliUUIJ"l'r 

(D). @ili.nl'-ffe~ru R.@®uurrrr 

75. 4 melUlnd 6 women finish a job in 8 days, while 3 men and 7 women finish in 10 days. 
, In how many days will 10 women working together finish it? 

(A) 24 

(B) 32 

(C) 36 . 

.,,r 40 

~® Gruroro6'ltu 4 "°"'m"'~Lil, 6 Gum"'~ G61'r)i;~ 8 )DITLl!iffil~tb 3 ~m"'15t.0. 7 Quool!i~tb· 
GS'l'r)i;~ 10 )DITLl!iffil~tb (Yl"f-ULI1Tir1Gm. 10 Qu<lifTl!im ~~)DITl!i GS'l'r~~ <>r~6'l"" )DITLlliffilru (IP"f-UUITl'rlliW? . 

(A) 2.4 

(B) 32 

(C) 36 

(D) 40 
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76. A certain sum amounts .to Rs. 800 in 3 years and Rs, 840 in 4 :years in compound iI\terest. 
The rate of interest per annum is . 

77. 

(A) 2.1.% 
2 

5% 

(B). 4% 

(D) 

Vl® @>nSlLitSh'..-L Q~rrms;, &L_@ 61.JL"l- di~~ro 3 ~«iof@s;ffi\ro ®· 800 ~Q\Lb 4 <$Elior@s;..flro ®· 840 

~s;Q\Lb .!'tbifil!D~· .!'tb«ior@ aiL.kJ- di~Lb 

(A) 

(C) 5% 

What is the foll form of WWW? 

(~). Wide World Web 

(B) W:eb World.Wide 

~ World Wide Web 

(D) World Wide Window 

WWW ormuj!im 6>Shll6l.J rr .$s;Li:i ormw? 

. 

(B) 

(D) 

4% 

.(A) \ LI1J6l.JQ)rrW1LQJs;_6UmQJut5imwro (Wide World Web) 

· (B) 6l.JmQJut5imwro !LQJ561TTTG6iw~ (Web World Wide). 

(C) !LQJs;wrrG611U 61.JmQJ.ut.Slrowro (World Wide Web) 

(D) 12...QJs;wrrG611Ut£6'Twro (World Wide Window) 

' 

• 

78. System boot program is stored in. 

(A) RAM 

(C) Hard disk 

• .·.r ROM 

(D) CD 

s;~6'\l@1Ui!; ~ruBi@)Li:i Qi.omQurr@ar-----ro @®Bi@)Li:i. 

(A) , ~rr:or.'1"Li:i (RAM) (B) ~rr.vi.6rili (ROM) 

(C) ru6'11D5@ (Hard disk) (D) 61"1- (CD) 
·. 
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· 79. The office of the Divisional Commissioner was created in the year 1829 by 

,,/> Lord William Bentick ; · · . 

· (B) Lord Curson . 

(C) . Lord Wellesley 

(D) 1frd War~en Hastings 

1829-w ~m@ C:a;rrL.L~L.fihurr ~~rurua;~!i5 :t.®rurr.MilUJrurr 

(A) Gfil<ibQ\lUJLil Qumll!-ffil.$ iSl'lLl 

(B) . a;rrlfEir t5lr.rLl 

(C) _ Qru.UQoo<iiuQ\l .slr,rl.j ' 

(D) rurr~6"1 <:~wll!-ffil i51r.rLl 

BO. Service truces. are imposed by 

~ Government of India 

(B) State Governments 

(C) · Url;>an Local Bodies 

(D) Village Panchayat 

a-iru ruifl8iQ>m Gfil::li\wu~ 

(A) ®~UJ <!P!'llffiffilBiib . 

(B) lDrr~oo ~r,rlfrrffila;lfua;ar 

{C) p;a;rrLl!D L6irmrrL.61 ~QllDLIL.jM9r 

(D) .$lr,rrrlD U~UJ~ 

81. When Andhra was formed· on 1, October 1953 on the linguistic basis, the capital was 

(A) . Vijayawada . .pf KurnOQl . 

(C) Hyderaba!1 · (D) Gundur 

1953--ii» ~Qin-@ ~&C:Lrrurr 1-ib p;rr9r QlDrrWJ ~k!-LIUQlL.,.u51.U ~~r.r lD")6lQlib ~QllD:ii::O <:urr191, 

::i;Qlrup;a;r,rrrBi Gfilmffil.$1UJ~ · 

(A) GfiltJi!UJalfTLfT 

(C) Ql!i!1D1i5r.rrrurr:i; 
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82. • What does Article -340 of the constitution deal with? 

·.;tt> 
. (B) 

Backward class commission 
National commissi~n f~r scheduled castes · 

(C) National commission for scheduled tribes 

· (D) Women's commission 

..!9!1f6i1LJQ}Q)tDui.Sli;iir ..sl~340 661et.$@'GU@l 6Ti;iirm? 

(A) i.Sii;iirGOtlQ>ro Ql@jLii.Slmir 4roQ11T1UW 

(B) · 15rr!,jl~u.:,.aur<J¥;a;rrm a~lU 4roQ11T1ULb 

(C) LI!Jlffii®ll!-'61m@.$1£1TQT a~lU ~Ql-lUW 

(D) Qu.,Wa;ar~ro-1Utb 

83. Which Article of the constitution provides the special provision to the state of Ass!lm? 

. tJ!!_ Article 371-B (B) Article 371-C 
· (C) Article .371-D (D) Article 371-E · 

, ' 

"'1WOOITW wrrifilro~!iJ® 6'1!!JuLj ~ifi159u~ GU!,Jlii.J(§8i1.or!!J <!9llf6i11JWQllDULj ..sl:$16T@I? 

(A) ..sl:$1371-B (~) 661,$1311-C 

(C) 661:® 371-D (D) 661~ 371-'-E 

' 
84. · Which Article deals with the Adi'Iiinistrative Tribunals? 

(A) Article 300-A (B) Article 312-A , Article 323-A (D) Article 323-B 

/6]irGUrr~ ~iruurr1Uli.Js;rosr 661srffi©.$lEi>r!!J. 661~ GT§!? 
'· 

(A) 661~300-A (B) 661:$1312-A 

(C) . 661~ 323-cA · (D) 661:$1323-cB 

If the class intervals are 10-19, 20-29, 30-39, ...... then tipper limit of first interval is 
~ . 19.5 . I . . · . (B) 19 . 

~·. ~ . · · .~ m5 · .. 

10;19, 20-29, 30-39, ...... GTEilr!!J i.Slfil"-1 ~roLQQJQfla;allQi, (IJ>j!iOO i.Slnt..slEi>rCwru GTrororo 
(A) 19.5 (B) . 19 . 
(C) 20 (D) 18.5 
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86. Price movements in different.months. 

Gold ('t per 10 gm) Silver ('t per kg) 

4070 
4500 ~ 9500 

4050 
8690 

4000· - 3990 . 9000 8610 
('t) . 

3500·1- 8500 8470 

. 
3000~-..._ _ __, __ _. 

8000 
April May June April May June 

+-Months--;;. +-Months--;;. 

If 'X' represents the price of iO gm of Gold in May and 'Y' represents ~he price of 1000 gms 
of silver in June, then, the relationship between the two prices can best be.expressed by the 
equation · 

.;il) y = 2x + 630 (B) x = 2y + 630 

(C) y = 2.23 (D) . 3x = 2.39 ' 
x y 

J 

4070 
4500 ~ 9500 

4050 8690 
4000 I-

3990 9000 610 

('t) 
3500 I-

8470 
8500 

8000'-_.. ___ ._ _ _.._ 
1irLI119l Cw m-9Qr 

3000......__..__-4 __ _. 

!#'"' -~!JG> 

Gill!iJs;QiorL ruml)"uLp;:5]ro. 'X' 6rrou~ Gto torri$p;:5].U 10 i!ill)"rrtb i$ri.la;p;:5Jm GSlmQJmUJii; @ii6Jii;i!ilj!Ji1iJ. to!iJl!)ltb 
'Y' "'6'rui1iJ ~-&>ro torr~i2;:5]ro 1000 i!ill)"rrl.ii Qru<;Tr61fi~m GSlmQJmUJ @ii6JB;i!il!!li1iJ "'Qf!Qi, .@1JQiorl!f-!iJ®QJX>irar 
Qi$rrLirm~ @ii6Jii;@itb lfto6'rurr@ 

(A) 

(C) 

MOGS/15 

y=2x+630 

y =2.23 
x 
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(B) 

(D) 

x=2y+630 

3x = 2;39. 
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87. Open stunded forest with bushes and small trees having lohg and shaqi or shatp thorn 
or spines are commonly found in 

(A) Eastern Orissa 

(C) Siwaliks and Terai region 

@!iJ1.115Jila;~tb Gp;l<j-tu · G6Uir . Qa;rrmL 
a;1TQ11TcJUGl8ilJD19i. 

(A) ~rrlwrr..sl<;Or Bilijlffi@i LI@)~ 

~ N. or. th· E. astern. Tamilnadu _ 
~ J. Western Andhra Pradesh 

(B) 11>uS\\jlp;m.:.tq.o;M QJL Bil!,!)ffi@j U@j~ 

(C) 516Urr.nlii; tn!iJ!!)ltb G151TmiJ u<15~ (D) ~~'Tu iSl~:$~m Gtn!iJ® LI®~ 

88. Gujarat produces total salt in India prev. year is 

-~ 50% 

60% 

(B) 

(D) 

70% 

80% 

' ' 

.@)i;~uJrr..slo;M@)i;Q'll!>tu ~ml<j-ro QLOir:$1li LLIL1 l!LJDUii;~i&Qi @i!l<lfl~6iir uffil<15 

(A) · 50 lf°iDm!Dtb (B) 7 0 6!fjm!f)tb 

(C) 60 lfllidl!fjtb (D) 80 lfllidl~tb '. 

89. The Indian Colinter water current is originated during which season? 

(A) Summer season (B) Spring season ,;tr Winter season (D) Autumn season 

.@~turr..sl@ ,;r~ir )llir uSl~61TITLLtD 6t)i;!f) U(!lj6U a;rrQ)ffiJ.g;Qf!Qi S!..(!lj6UITffilllJ~? 

(A) Ga;ITQ')L a;rrootb (B) 6Ulf)i;ID d;ITQ)tD 

(C) · @i.mlir a;rrrotb (D) .@Q'lroll..j~ir a;rrrotb 

90. · The highest waterfalls ill the world is 

(A) Browne falls 

..Jf'f · Angel falls 

LQlSil@ uS\a; LIUl)"LOIT61T )ljir m\jl6fi\ 

(A) LiQl)".mEOfl )llirdl\jl651 

(C) '!"@~ )llirdl\jl651 

(B) Kalambo falls 

(D) Niagara falls 

(B) a;rotbGu ir ~ro\jllffil 

(D) )!ilUITd;l)"IT )ljirmbillffil 

• 
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91. The new blood test which diagnoses tuberculosis in children quickly and accurately is 

.JI( ·TAM-TB assay (B) T-TB assay 

(C) MS assay (D) MS-TB assay 

@!Jlii;roi!i56ITlru. ior~tbLJQ!i.$.$1 ap;rruSlm ~i6l@i615ro'1T 6l5lro176l5l~tb ~ru.u!LI.JLDIT5Q/tb a"'rri!iro"" 

.. Q8'uJllJQJQJQ) yi!jlu.J @lli>i!i C:8'1Ti!i61>"" ior~? 

(A) TAM-TB~~ (B) T-TB ~aQI) 

(C) MS ~aQI) _ (D) MS-TB ~alOlll . 

92. RBI was constituted for high level panels in Jan, 2015 to study which bank? 

~ Urban Co-operative Bank 

. (B) TamilNadu Mercantile Bank 

(C) Rurai Co-operative Bank 

(D) Karur Vysa Bank 

!l!""ruifl 2015-ru ifl"'iTQi ruffililil iorJi;i!i ruffilililrou.J ~Q"ITLI.J V!rr:l..:LI.JiTLDLLI; @i@6f>ru ~6f>LDP'i~? 

(A) . p;51i'LJ!D sa.L@!DQ/ ruffililil 

(B) i!iuSlwp;rr@ QLDrr5mroLru ruffil.$1 · 

(C) -175 sa.L@!DQj ruffililil 

(D) 5(!!jli' mru6liurr ruffilllil 

93. What percentage was distributed to rural developments in the Twelfth Five Year Plan? 

(A) 4.5 

,, .. ·6.0 

(A) 4.5 

(C) ·6.0 

.MOGS/15 34 

(B) 3.5 

(D) 7.0 

(B) 3.5. 

(D) 7.0 
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94. Match the incorrect pair : 

(A) HudHud Israel National Bird 

-
(B) SMAP Satellite 

(C) Maha.ka.li River 

fll" Toa.ing Spring Tele communications 

(A) jilll")i; ~"Iii 

(B) · SMAP 

95. For what purpose, the ReserVe Bank of India. recently Signed a.n agreement with Brazil? 

. """ Information sharing 

(B) Accounts of Black money 

(C) Printing of currency 

(D) New technology 
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96. Scientists have· rewritten the genetic code of bacteria using synthetic chemicals to grow 
them. This is referred to as GMO. GMO stands for 

(A) Genetically Manipulated Organisms 

..1'3> · Genetically Modified Organisms 

(C) Globally Modified 'Organisms 

(D) Genetically Modelled Organisms 

66l~f®ITQfllb~. QB'lUJDGIDl!i {gaJ~66lmmu Gurr(!ljLlbmwu utu-'ruQil~~ auiiaaiflturrl.i;a;mm QJW!T~191 ~i!i-'1 
w!)'t51turu 66l~u Qi!irr@iuauL.iq.mm to.!l)IQPm!D or@~ 'LoirmmiT . .@191 GMO "'row ~mi,pi.i;a;uu@llil!Di9J· 
GMO oorm~ ®JDli.i;@il.il? 

(A) Genetically Manipulated Organisms· .. 

(B) Genetically Modified Organisms 

(C} Globally Modified Organisms 

(D) GeneticallyModelled Organisms 

97. Who is the longest serving Chief Minister in India as on Jan, 2015? 

,.;t. Mr. Pawan Chamling 

(B) Mr. Raghubar Das 

(C) Mr. Umman Chandi . 

(D) Mr. Nitesh Kumar 

(A) ~®· u_aJ-'r 8'rrib@lrru 
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98. Pick out the country with very low C02 emission in 2014 as accordllg. tO CAN, Europe . 

. (A) Saudi Arabia (B) India 

(C) Australia .pf Denmark 

mGi:rrrutS1UJ CAN .g,it!§I ~!DlB;QJs;uSlm ull\-. 2014 .!'tl>Lli ~.mil\-~ l.61!£5 @iQl!D)i;IO C02 "-L61WE>.J Qmi.J)lj p;rr@ 

o;rt!§I o;rQ-ruQJIO GIOirQ.f Qlfli.Js;. 

• (A) QlfQTi!J ~Gi;rtS1UJrr (B) @)i;i!JUJrr 

. (C) ~®i!JGi;r"5\UJrr (D) GLmLDrrir8; 

. 99. G SAT-16 is a 

(A) Education satellite 

.f1lf Communication satellite 

(C) Commercial satellite 

(D) Military satellite 

. 
tli1 lfITL [G SAT]-16 i;rm-ut!§I 

(A) s;roeS\ QlfUJ!i>Q)M Glliiroir 

(B) Ql"rrQJQJQIOrrLirl..j QlfUJ!i>QlM Gs;rroir 

(C) QJQl!lfls; QlfUJJi>Gi>s;B; Gllirroir 

(D) @i:rrrll!!)IQI GlfUJJi>oos;B; G/fin:oiT 

100. In which of the following year, Novak Djokovic did not win the Australian Open Tennis? 

(A) 2008 (B) 2011 

,jjlf 2014 (D) 2015 

£wB;s;omL i;rJti" ~.m"l-ru . Gp;rrQJB; GesrrGllirr..sls .!'tl>®pj1Gi;r"51UJ 'ii!um QL6'r..t1w u..:..y;Qli"u 
QuweSlruooQl? 

(A) 

(C) 
2008 
2014 

37 

(B) 

(D) 

2011 

2015 
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GENERAL STUDIES 
(Degree Standard) 

MOGS/15. 

Time Allowed : 2 Hours] [Maximum Marks : 200 
Read the following instructions t;arefully before Y?U begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

l. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 

2. 

3. 

4. 

5. 
.6. 

7. 

it at the commencement of the examination, As soon as the signal is received you should tear the ri~ht 
side of'the lJooklet cover careftilly to operi the booklet. Then proceed to answer the questions. 

This Question Booklet contains 100 questions. Prior to attempting to answer the candidates. are 
requested t.o check whether all the questions are there in series without any omission and ensure there · · 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed .it shall 
be reported to the Invigilator within first 10 minutes. · • 
kiswer all questions. All questions~ equal marks. 
You must write your Register Number in the space proVided on the top right side of this page. Do not 
write anythiµg else on the Question Booklet. 
An Answer Sheet will be supplied to you S!'parately by the Invigilator to mark the answers. 
You will also ericode your .Register Number, Subject Code, Question Booklet SL No. etc. with Blue or 
B!ask irik Ball point pen iii the space provided on the side 2 of the Answer Sheet. If you do not ericode 
properiy or fail to encode the above information, action will be taken as per commission's notification. 
Each question comprises four responses (A), (B), (C) and (D). You arll to select ONLY ONE correct 
response and mark in your Answer Sheet. In case you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE resp.onse for 
each questian. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. · · · 

8. Iri the Answer Sheet there are four circles@,@,@ and@against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choiee for 
each question. Select one response for each question in the Question Booklet and ma,rk in the Answer · 
Sheet. If you mark more than one answer for one question, the answer will be treate.d as wrong. e.g. If 
for any item,@is the correct answer, you have to mark as follows: 

@•@@ 

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination Hall during the .examination. 
After the ewmination is conc!uded, you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only aftepthe Ewmination is over.· 

J ' • ~ 

10. . The sheet before the last page of the Question Booklet can be used for Rough Work. 
11. Failure t.o comply with any of.the above instructions will render you liable to such action or penalty as 

. the Commission may decide at their discretion. 
12. In all matters and in cases of doubt. the English Version is final. 
·13. Do not tick-mark or mark the answers in the Question booklet. 
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